| Efficiency vs Dxy |
> 0.1
<

0.00Evoreri o frdo
N T T A R S A
Do
& F oot
N A S/ I
o F oo

0.06 il

-

0.04F {1 fild

0.03fH- [+~

0.020H L1+ 1
OJ..\_Qf' 1 I ;II

Rati

8-804 - 48 - 43 & SAAAAUA A 244 4-4---

0955-20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_ttbarPU_mkFit_5iter
[ Efficiency vs Dz | |—=— DQM_ttbarPU_mkFit_5iter_updatedPR111_update

0.1 —— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation
N U, ; T T T
©

)

5 F

_é_?'08:_ ...............................................................

Q r [

0,07 {[ b

()] o :

O e R S S oo

005; . | P

0.04 ;- 1T ili; ------------------------------------ 3 »

0_035_ ko S S [ L ! kY
vy . ." Py L]

0.02fft 41 M pytp i T * Sl
0.01f- " * -4 l L

OJ--LQIIII:IIII!IIII!IIII!IIIIiIIII

S
*
l.'i
:

Rati

09365 =20 -10 ©0 10 20 30

TP dz (cm)



	Contents
	Page 1


